HIDE INFORMATION
AS DECLARER

. HIDING DECLARER’S CARDS ata SUIT Contract:

KQx (say A in dummy) Win with K (higher of equals)

AKx Win with A  (hide K)

AQJx Win or finesse Q (hide J)

. HIDING DECLARER’S CARDS ata NT Contract:

KQx Win with K (higher of equals)

AKXx Win with K (hide A from rho)
Winning A implies having the K as
You would hold up with only the Ace

AQJx Win or finesse Q (hide J)

- LEADS BY DECLARER at Any Contract:

KQJx Lead Q (2" highest — hide K)
AKQx Lead K (hide A)
QJ10x Lead J (hide Q)
KJ10x Lead K then lead 10 (hide J)

o KEEP DEFENDERS WONDERING
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